4. Uvod u diferencijalne jednadzbe, 4. dio - RjeSenja
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.y:2x%—|—2.
y=(r+2)e " +x—1.

LY = %sin?’x—i—clxntcz.
y=—T— sin(22x) + cysinx + cs.
y=cln(z+1)+c.
(x4+e)(y—1)=c1.
3z =1y’ +cy +
y=c1e% + e
y=ce’ + CQe_%x.

yzez(cl—i—C?x): = e"(4 - 2x).
y=e" (c1 Cos(?)x) + ¢o sin(?)x)).
y=-e" (01 cos(2x) + cosin(2x)).

y = e “(c1c08(2x) + c28in(22)), y = e sin(2z).
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y:ex(clcosa:—i—cQsinx)+§(x—|—
=c+c eQ“PC—x—3
y==ac e 6

1
Yy = §x(x + 2)e

y = cre” + coxe” + e

Y = €1 COST + copsinx — 3 sin(2z).



19. y = (c1 cos(3x) + cosin(3x))e” 4 cos(3x) — 6sin(3x).
20. y = ¢ + cee” " + (207 — 63 + T)e”.

21 T + —1y + 4 28 2z
. = C1€ Coe 2 —-r—— | €e".
Y 1 2 5 25

T
22. y = c1e” “cosx + cpe” Usinx + g(— cosx + sin ).



